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837 + Ox% + 4x — 2(x — 6x)

3x— 4x> + Tx— 4(5x — Tx)

3x—x—x° - 3(7x2 - 7x2)

S5x° + 9x° — 4(7x — 6x3) +x°

Ox + 4x + 2x° + 9x° + 3x°

Jun: ATLLUU:

0 — 6x% + 2x% — 3x° — 247

43 + 2% +2(7%% — ) — 2x

3% + 8x — 2x% — 2(6x° — 3x7)

57+ 0% 426 + T + Tx

2% + 9x% + 2x — 2(x° + 2x)
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8x% + 9x% + 4x — 2(x — 6x)
172 + 14x

3x— 4x> + Tx — 4(5x — Tx)
—4x° + 18x

3x—x—x° — 3(7x2 —7x2)
—x? + 2x

5% + 9 — 4(Tx — 6x3) +x3
39x° — 28x

Ox + dx + 2 + 9> + 3x?
11x° + 3% + 13x

[

0 — 6% +2x% = 3x° = 2x°
6x° — 617

4x3+2x2+2(7x2—x3)—2x
260 + 16X — 2x

3x% + 8 — 2% — 2(6x° — 3x?)
—12x° + 7% + 8

505+ 0P + 2 + TP + Tx
26 + 218 + Tx

2% + 9% + 2x — 2(x + 2x)
23 + 11 — 2x
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